([ EXREAKERF ] BRTHEEM RS (20195F10A5))

REIGFT FERER T4IIVEERR. RIRER
T4IVEERE (O or x) e
v | MR REE [ Sv/h] BECC) (2] A-n—R7-0 IV BRA (B
No. | it |5 28 LTS E IR [£#]: Datimig BEHBGELE
BE )7 = pop— (B QIMIEFEA-N-RE—Il
©Oorx) | BB | atim | Ba woy | BEEIR BG ERA | EiRe
: e L HEPA |Fva—JL
1| B e e} 0.45 BG 0.34 30.1 23.9 23.9 0] 0] 10/4
2 |fEsEikEERT hE=E & e} 0.32 BG 0.31 294 248 23.3 0] 0] 10/4

/

X1 RRANEBEBEDOTc)L2ERE, HOUIZ2E B LIBED D)L 20 5 BB &
X2 AVEVMPEIRSA



( EERKRER ]

BFTHEEME ISR (2019108 %)

REIGFT FERER TV ER. TREE
T4IVEERE (O or x) e
HBEE (4 Sv/h] RE(°C) (2] A-n—Rh—1 FAVETBRE (B )

No. RN EREE | (B QatimiRERABGLE ® &
BE U7 — KTsE ﬁ(éﬁﬁjﬁ BIMSEESnAr i
gord K | BRER EAA | AR
% HEPA |Fva—)L
| |mamET EERTLATEHEE BG 374 o) o | 15
2 |BemAER  (FUSBRILATZEE BG 368 o) o | 15 /
——
3 |memkEm  |[BUgERTLATEEE - Pt
o |memER  (H2mBILATmEE BG 344 o) o | 15
5 |memER  (H2mBILTmEE 08 3.1 o) o | 15 /
—
o |mmsEm  |[B2mEILATEEE . — Pt e
I
1 |EEEKRERRT RY)—=2FT)T 12 23.2 O O 10/5
o |mEmuEm  |E#IVT // ke
o |mrmsmm  |REHIV7 // it
10 |EemkEn (e ] fEit e
P
/
P
P
/
//

X1 RRANEBEBEDOTc)L2ERE, HOUIZ2E B LIBED D)L 20 5 BB &

X2 AVEVMPEIRSA




[ 5/659—EREEAKREF ]

BFTHEEME #IFHEREER (2019108 59)

HE ST HERER DAL ER. RIBEE

. w | 192 985 [ Su/h] B (C) 7&;?23}%; ) e I R

BE )7 - p— (B @M EF-N-R-)

(Oorx) %f at 1m BG R %”f:‘f% BG AR ARt = Y Er—

1 [5/65SB dLllv—K A KRBUARI =YX [— | Fike
2 |5/62SB LBIY—F (S SEARLI=ZVR DR o 25 BG 13 416 27.4 26.3 o) @)
3 |5/65SB dLBIv—F|HSERAALI=YFNDR I - T | eI
4 |5/62SB LBIY—F (S SEARLIZVR DR o 4 BG 16 423 27.4 26.5 o) o) /
5 |5/65SB hEFIE |ROU—=2F T o 35 BG 05 42 26.2 248 o) o) 10/3 /
6 |5/65SB {hEFIN |(KEATUT 3B o} BG BG 02 416 32.1 29.2 o) o) 10/3 /
7 |s/68se thmmoms|  thEmrEE - / fek e
8 |5/65SB hEFIRE|  AEATEA 0.7 BG 05 32.9 25.3 23.4 o) o) /
o [s/62sB thammoms [thEaTy7 ] / {1t
10 |5/65SB {REEAT2ME (KBTI T ] £t
11 |5/62SB {kERAT2RE |[thEETYT o BG BG 05 28.6 23.7 21.7 ) o) 10/3
12 |5/65SB {KEFR2ME [REETUT T / fFik e
13 |5/65SB {KEERFT2RE (kBT 7 T / 1k
14 [5/62SB thEmr2MS |thEaTY7 o BG BG 038 28.3 22.1 218 o) o) 10/3 /
15 |5/65SB {kEFT2ME [RERTY 7 - a1 | / fZ1b
16 [5/62SB tREmr2MS [hETy7 o 038 BG 04 326 248 238 o) o) 10/3 /
17 |s/62sB tREamr2ms | ALAT o 0.6 BG 03 326 274 26.1 o) o) 10/3 /
18 |5/62sB tRERmR2RE |REERERT B o BG BG 0.2 36.4 30.1 273 o o 10/3 /
19 [5/62SB tkamraRs [hETY7 3B o BG BG 0.2 379 30.7 279 o) o) 10/3 /
20 |5/65SB {REEAT2ME | IR IS ERTER @) 0.6 BG 0.4 33.4 26.3 25.3 O O 10/3
21 |5/65SB thEEFT2MS |PIRSMTER . | fZ1kh
22 |5/62SB {RERFT2RS [RiBSAATSE o} 0.7 BG 05 26.6 233 22.5 o) o) 10/3 /
23 |5/62SB (REEFT2RS [fRMSEHRISREATER e} BG BG 05 278 236 22.4 o) o) 10/3 /
24 |5/65SB {hEEFT2M |BREAIER / £kt
25 |5/62SB (RARAT2RS |BEAER | —] / Eiks
26 |5/65SB thEEFT2M |BE / £kt
27 |5/65SB (RERFT2RS |chiRATER L — / Eiks
28 |5/65SB {REEAT2RE |SHEME L / f£1kh
29 |5/65SB thEEFT2MK | TE=E / f£1kh
30 |5/65SB {KEEFT2RS |2~ 3ME~ DB (@) BG BG 0.2 376 32.1 28.5 @] O 10/3

X1 RRANEB DT /L2RE, H5UIZ2ERB LB I/ )L205MAIE mE

X2 AVEUMPEIRILA

X3 RIBERICKYERERV RS G -OEEEREZBACIBELT O (EREERBZBASE. FRER) .




[ EFTERRT KRR ]

BFTHEEME ISR (2019108 %)

REISAH HERSER TAIVEER, RIBRER
T4IVEERE (O or x) e
. | B R RER [ Sv/h] BE(C) (R4]:A-n -2 TOVEKBRIE (B
No Btz ra LTINS E EREE | (E#£)]QatimBENBGIULE " =
BE 7 o pp—— (8D Q@IMSEEA-N-2T—)
o BEIRETR s 4o as =43
(Oorx) X1 at 1m BG R X2 BG BREl ARk =y TRy —
1 [EMZHEFAER (ERERESHRE . jiXrdas
2 |EMEHRKRER |EMRETIVT @] BG BG 0.2 39.4 23 211 (@) @] 10/28
3 |EFTEGBAARER |ZHEFREFHE @] BG BG 0.2 46.5 21.9 21 (@) @] 10/28
4 |EMERAAER |EMEHEREAD @] BG BG 0.7 42.8 21.3 21.2 (@) @] 10/28

/

X1 RRANEBEBEDOTc)L2ERE, HOUIZ2E B LIBED D)L 20 5 BB &

X2 AVEVMPEIRSA






